Quiz 27 Solution  Fall 2010  November 17
These problems are from Lesson 6 material.
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Find what quadrant  
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Method 1:
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  the y-coordinate of the point of intersection of the terminal side of the angle 
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.  Since we have that  
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since only a negative divided by a positive will result in a negative.

Thus, we have that  
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 is in the IV quadrant.
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Thus, the common quadrant is the IV quadrant.

Method 3:
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 is in either the III or IV quadrant
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 is in either the II or IV quadrant
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 is in either the II or IV quadrant

Thus, the common quadrant is the IV quadrant.

Answer:  IV
2.
Use a right triangle to find the exact value of  a.   
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  and  b.   
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(6 pts.)
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       Answer:  
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       Answer:  
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